

MONOTONICITY OF FUNCTIONS INVOLVING Q-GAMMA FUNCTIONS

CHRYSI G. KOKOLOGIANNAKI

(Communicated by N. Elezović)

Abstract. We give monotonicity properties of some functions involving q-Gamma functions. The results are q-analogue of results concerning Gamma function and generalize some known results.

1. Introduction

Let $\Gamma(x)$ be the Gamma function defined by

$$\Gamma(x) = \int_0^{+\infty} e^{-t} t^{x-1} dt, \quad x > 0, \quad (1.1)$$

and $\psi(x)$ be the logarithmic derivative of $\Gamma(x)$ the co-called psi function and defined by

$$\psi(x) = \frac{\Gamma'(x)}{\Gamma(x)}, \quad x > 0. \quad (1.2)$$

The q-analogue of $\Gamma(x)$ is called q-Gamma function, was introduced in 1904 by Jackson and defined for $x > 0$ and $0 < q < 1$ by

$$\Gamma_q(x) = (1-q)^{1-x} \prod_{n=0}^{\infty} \frac{1-q^{n+1}}{1-q^{n+x}}. \quad (1.3)$$

Note that $\lim_{q \rightarrow 1^-} \Gamma_q(x) = \Gamma(x)$ and the q-Gamma function satisfies the functional equation

$$\Gamma_q(x+1) = \frac{1-q^x}{1-q} \Gamma_q(x), \quad \Gamma_q(1) = 1. \quad (1.4)$$

The q-analogue of $\psi(x)$ is called q-psi function and is defined as the logarithmic derivative of $\Gamma_q(x)$,

$$\psi_q(x) = \frac{\Gamma'_q(x)}{\Gamma_q(x)} \quad (1.5)$$

Mathematics subject classification (2010): 33B15, 33D05, 26D07, 24A48.

Keywords and phrases: q-Gamma function, monotonicity properties, inequalities.

and from (1.5) in combination with (1.3) it follows

$$\psi_q(x) = -\log(1 - q) + \log q \sum_{n=0}^{\infty} \frac{q^{n+x}}{1 - q^{n+x}} = -\log(1 - q) + \log q \sum_{n=1}^{\infty} \frac{q^{nx}}{1 - q^n}. \quad (1.6)$$

In the recent years many authors [2-12 and references there in] have proved inequalities and monotonicity properties for functions involving $\Gamma(x)$, $\psi(x)$, $\Gamma_q(x)$ and $\psi_q(x)$. In this paper we present monotonicity properties and inequalities for some functions of $\Gamma_q(x)$, which generalize already known results [4,5,12].

2. Main results

PROPOSITION 2.1. *The function $\psi'_q(x)$ is strictly completely monotonic for $x > 0$ and $0 < q < 1$. This means that the inequality $(-1)^m(\psi'_q(x))^{(m)} > 0$ holds for $m = 0, 1, 2, \dots$*

Proof. Let $x > 0$ and $0 < q < 1$, then from (1.7) we can easily prove that

$$\psi'_q(x) = (\log q)^2 \sum_{n=1}^{\infty} \frac{nq^{nx}}{1 - q^n} > 0, \quad (2.1)$$

that is the function $\psi_q(x)$ is an increasing function of x , so,

$$\psi_q(x) < \psi_q(y), \quad 0 < x < y. \quad (2.2)$$

From (2.1) we obtain

$$\psi''_q(x) = (\log q)^3 \sum_{n=1}^{\infty} \frac{n^2 q^{nx}}{1 - q^n} < 0$$

$$\psi_q^{(3)}(x) = (\log q)^4 \sum_{n=1}^{\infty} \frac{n^3 q^{nx}}{1 - q^n} > 0$$

and by induction we obtain that

$$\psi_q^{(m)}(x) = (\log q)^{m+1} \sum_{n=1}^{\infty} \frac{n^m q^{nx}}{1 - q^n}, \quad m \geq 1,$$

which is positive for m odd and negative for m even, so we obtain the desired result.

REMARK 2.1. Proposition 2.1 is the q -analogue of the known result [1] that the function $\psi'(x)$ is completely monotonic for $x > 0$.

THEOREM 2.1. *Let $0 < q < 1$, $A \leq 0$, and $b \geq 0$. Then the function*

$$f_q(x) = x^A [\Gamma_q(1 + \frac{b}{x})]^x$$

decreases with respect to $x > 0$.

Proof. The function $f_q(x)$ is positive for $x > 0$. Taking the derivative of $f_q(x)$ with respect to x we obtain:

$$f'_q(x) = \left\{ \frac{A}{x} + \log \Gamma_q \left(1 + \frac{b}{x} \right) - \frac{b}{x} \psi_q \left(1 + \frac{b}{x} \right) \right\} f_q(x). \tag{2.3}$$

Using the same method which was used for the proof of theorem 2.2 of [5] it follows that the function

$$h_q(x) = \frac{A}{x} + \log \Gamma_q \left(1 + \frac{b}{x} \right) - \frac{b}{x} \psi_q \left(1 + \frac{b}{x} \right)$$

or by setting $y = \frac{1}{x}$

$$s_q(y) = Ay + \log \Gamma_q(1 + by) - by\psi_q(1 + by)$$

is negative for $y > 0$ if $A \leq 0$ because $s'_q(y) < 0$ and $s_q(y) < s_q(0) = 0$, for $y > 0$. This means that the function $h_q(x)$ is also negative for $x > 0$, so from (2.3) we obtain the desired result. \square

REMARK 2.2. Theorem 2.1 extends the region of validity of A , to the negative values, since the theorems 2.2. and 2.3 in [5] deal with $A \geq 0$.

COROLLARY 2.1. Let $0 < q < 1$. Then the following inequalities hold:

$$(i) \quad \sqrt{x} \leq \left[\Gamma_q \left(1 + \frac{1}{x} \right) \right]^x, \quad 0 < x \leq 1, \tag{2.4}$$

$$(ii) \quad \sqrt{2x(1+q)} \leq \left[\Gamma_q \left(1 + \frac{1}{x} \right) \right]^x, \quad 0 < x \leq 1/2, \tag{2.5}$$

$$(iii) \quad [\Gamma_q(x+1)]^{1/x} < \frac{1-q^{1+x}}{1-q} < \frac{1}{1-q}, \quad x > 0 \tag{2.6}$$

and

$$(iv) \quad \Gamma_q(x) < \frac{1-q^{1+x}}{1-q^x} \left[\frac{1-q^{1+x}}{1-q} \right]^{x-1}, \quad \Gamma_q(x) < \frac{(1-q)^{1-x}}{1-q^x}, \quad x > 0. \tag{2.7}$$

Proof. From theorem 2.1 for $A = -1/2$, $b = 1$ it follows that the function

$$\frac{[\Gamma_q(1 + \frac{1}{x})]^x}{\sqrt{x}} \tag{2.8}$$

decreases with respect to $x > 0$. So, using (1.4) and the monotonicity of the function (2.8):

(i) for $0 < x \leq 1$ we have the inequality

$$\frac{[\Gamma_q(1 + \frac{1}{x})]^x}{\sqrt{x}} \geq \Gamma_q(2) = \Gamma_q(1) = 1$$

which proves (2.4) and

(ii) for $0 < x \leq 1/2$ we have

$$\frac{[\Gamma_q(1 + \frac{1}{x})]^x}{\sqrt{x}} \geq \sqrt{2\Gamma_q(3)} = \sqrt{2(1+q)}$$

from which (2.5) follows.

Also, from theorem 2.1, for $A = 0$, we can easily prove that the function $[\Gamma_q(1 + bx)]^{1/x}$ increases with respect to x for $x > 0$. So, the following inequality holds:

$$[\Gamma_q(1 + bx)]^{1/x} < [\Gamma_q(1 + b + bx)]^{1/(1+x)}$$

or

$$[\Gamma_q(1 + bx)]^{1+1/x} < [\Gamma_q(1 + b + bx)] \tag{2.9}$$

(iii) From (2.9) taking $b = 1$ and using (1.4) we have

$$[\Gamma_q(x + 1)]^{1+1/x} < \frac{1 - q^{1+x}}{1 - q} \Gamma_q(x + 1). \tag{2.10}$$

The inequalities (2.6) follow from (2.10), taking in account that $1 - q^{x+1} < 1$, for $x > 0$ and $0 < q < 1$.

(iv) From (2.6) using once more the relation (1.4), we obtain

$$\Gamma_q(x + 1) < \left[\frac{1 - q^{1+x}}{1 - q} \right]^x \quad \text{and} \quad \Gamma_q(x + 1) < \frac{1}{(1 - q)^x}$$

or

$$\frac{1 - q^x}{1 - q} \Gamma_q(x) < \left[\frac{1 - q^{1+x}}{1 - q} \right]^x \quad \text{and} \quad \frac{1 - q^x}{1 - q} \Gamma_q(x) < \frac{1}{(1 - q)^x} \tag{2.11}$$

from which the inequalities (2.7) follow. \square

THEOREM 2.2. (i) Let $0 < q < 1$, $x > 0$, $Mx + N > 0$, $0 < a + bx \leq d + ex$ and A, c, f real numbers with $AM \leq 0$ and $0 < cb \leq fe$. Then the function

$$G_q(x) = (Mx + N)^A \frac{[\Gamma_q(a + bx)]^c}{[\Gamma_q(d + ex)]^f} \tag{2.12}$$

decreases with x .

(ii) Let $0 < q < 1$, $A \leq 0$, $M \geq 0$, $0 < a < d$ and $c > 0$. Then the function

$$g_q(x) = (Mx + N)^A \left[\frac{\Gamma_q(a + x)}{\Gamma_q(d + x)} \right]^c \tag{2.13}$$

is logarithmically completely monotonic for $x > \max\{0, -N/M\}$.

Proof. (i) The derivative of the function $G_q(x)$ with respect of x is

$$G'_q(x) = \left\{ \frac{AM}{Mx+N} + cb\psi_q(a+bx) - fe\psi_q(d+ex) \right\} G_q(x) \tag{2.14}$$

Using proposition (2.1) for $n = 0$ and if $AM \leq 0$ and $0 < cd \leq fe$ from (2.14) we obtain the desired result.

(ii) The function $g_q(x)$ becomes from $G_q(x)$ for $b = e = 1$ and $f = c > 0$ so (2.14) gives

$$g'_q(x) = \left\{ \frac{AM}{Mx+N} + c[\psi_q(a+x) - \psi_q(d+x)] \right\} g_q(x) < 0 \tag{2.15}$$

Let $\alpha(x) = \frac{AM}{Mx+N}$ and $\beta(x) = \psi_q(x+a) - \psi_q(x+d)$, then (2.15) can be written as

$$\frac{g'_q(x)}{g_q(x)} = \alpha(x) + c\beta(x)$$

or

$$(\ln g_q(x))' = \alpha(x) + c\beta(x) < 0 \tag{2.16}$$

We can verify by induction that $\alpha^{(k)}(x) = \frac{(-1)^k k! AM^{k+1}}{(Mx+N)^{k+1}}$, for $k = 0, 1, 2, \dots$, so the function $\alpha'(x)$ is completely monotonic, for $A \leq 0$ and $M \geq 0$. Also using proposition 2.1 the function $\beta'(x)$ is completely monotonic for $x > 0$, if $0 < a < d$, so from (2.16) we obtain the desired result. \square

REMARK 2.3. From theorem 2.2 (i), for $A = 0$, we obtain the results given in [12] which generalize the results of [10].

COROLLARY 2.2. Let $0 < q < 1$, A, B, a, d real numbers and $x > \max\{0, -A, -a, -d\}$. The positive function

$$F_q(x) = (x+A)^B \frac{\Gamma_q(a+x)}{\Gamma_q(d+x)} \tag{2.17}$$

(i) is an increasing function of x for $x > \max\{0, -A, -d\}$, if $a > d$ and $B \geq 0$, (ii) is a logarithmically completely monotonic function of x for $x > \max\{0, -A, -a\}$, if $a < d$ and $B \leq 0$ and (iii) the function

$$H_q(x) = \frac{\Gamma_q(d+1+x)}{\Gamma_q(d+x)} \tag{2.18}$$

is completely monotonic function for $x > d > 0$.

Proof. We note that the function $F_q(x)$ becomes from (2.12) by setting $c = f = 1$, $b = e = 1$ and $M = 1$, so

$$(i) F'_q(x) = \left\{ \frac{B}{x+A} + \psi_q(x+a) - \psi_q(x+d) \right\} F_q(x) \tag{2.19}$$

and if $a > d > 0$, $B \geq 0$, $x > \max\{0, -A, -d\}$ and using proposition (2.1) for $n = 0$, from (2.19) we obtain the desired result.

(ii) It follows immediately from theorem 2.2 (ii) for $c = 1$ and $M = 1$.

(iii) The function $H_q(x) = \frac{\Gamma_q(d+1+x)}{\Gamma_q(d+x)}$ becomes from $F_q(x)$ for $B = 0$ and $a = d + 1$. We note that

$$H_q(x) = \frac{1 - q^{x+d}}{1 - q} \quad (2.20)$$

taking in account the functional equation (1.4). From (2.20), if $d > 0$ follows easily the desired result, since $0 < q < 1$. \square

REMARK 2.4. Corollary 2.2 is the q -analogue of the result proved in [4], concerning the function $(x+A)^B \frac{\Gamma(x+a)}{\Gamma(x+b)}$.

COROLLARY 2.3. *The inequality*

$$\Gamma_q(x+1) > \frac{1}{x+1} \left[\frac{1-q}{1-q^{x+1}} \right]^2 \quad (2.21)$$

holds for $x > 0$.

Proof. From theorem 2.2 (i) for $A = -1/2$, $a = 1$, $d = 2$, $c = 1/2$ and $f = 1$ it follows that the function $\sqrt{\frac{\Gamma_q(1+x)}{1+x}} \frac{1}{\Gamma_q(x+2)}$ decreases with $x > 0$, so

$$\sqrt{\frac{\Gamma_q(1+x)}{1+x}} \frac{1}{\Gamma_q(x+2)} < \frac{\sqrt{\Gamma_q(1)}}{\Gamma_q(2)}$$

or

$$\frac{\Gamma_q(1+x)}{1+x} < [\Gamma_q(x+2)]^2 \quad (2.22)$$

and using (1.4), from (2.22) we obtain the inequality (2.21).

REFERENCES

- [1] M. ABRAMOWITZ, I. A. STEGUN (Eds.), *Handbook of Mathematical Functions with Formulas and Mathematical Tables*, Applied Mathematics Series, Vol. 55, fourth ed., with corrections, National Bureau of Standards, Washington, 1965.
- [2] H. ALZER, A. Z. GRINSHPAN, *Inequalities for the gamma and q -gamma functions*, J. Approx. Theory, **144** (2007), 67–83.
- [3] C. P. CHEN, *Inequalities for the Polygamma functions with Applications*, General Mathematics, Vol. **13**, 3 (2005), 65–72.
- [4] C. P. CHEN, *Complete monotonicity and logarithmically complete monotonicity properties for the gamma and psi functions*, J. Math. Math. Anal. Appl., **336** (2007), 812–822.
- [5] N. ELEZOVIC, C. GIORDANO, J. PECARIC, *A geometric mean inequality and some monotonicity results for the q -Gamma function*, Mathematical Inequalities and Application, Vol. **1**, 2 (1998), 253–258.
- [6] N. ELEZOVIC, C. GIORDANO, J. PECARIC, *Convexity and q -Gamma function*, Rendiconti del Circolo Matematico di Palermo, Serie II, Tomo **XLVIII** (1999), 285–298.

- [7] C. GIORDANO, A. LAFORGIA AND J. PECARIC, *Unified treatment of Gautshi-Kershaw type inequalities for the gamma function*, J. Comp. Appl. Math., **99** (1998), 167–175.
- [8] M. E. H. ISMAIL, L. LORCH AND M. E. MULDOON, *Completely monotonic functions associated with the Gamma function and its q -analogues*, J. Math. Math. Anal. Appl., **116** (1986), 1–9.
- [9] S. KOUMANDOS, *Monotonicity of some functions involving the gamma and psi functions*, Mathematics of Computation, **77**, 264 (2008), 2261–2275.
- [10] T. MANSOUR, *Some inequalities for the q -Gamma function*, Journal of inequalities in pure and Applied Mathematics, **9**, 1 (2008), Article 18, 4pp.
- [11] J. PECARIC, G. ALLASIA AND C. GIORDANO, *Convexity and the Gamma function*, Indian Journal of Mathematics, B.N. Prasad birth centenary commemoration Volume, **41**, 1 (1999) 79–93.
- [12] A. SH. SHABANI, *Generalization of some inequalities for the q -Gamma function*, Annales Mathematicae et Informaticae, **35** (2008), 129–134.

(Received March 6, 2009)

Chrysi G. Kokologiannaki
University of Patras
Department of Mathematics
26500 Patras
Greece
e-mail: chrykok@math.upatras.gr